
The Tree Trail Finders Answer Sheet 

These are the solution words – they form a sentence: 

T    r    e    e    s       a   r    e        t    r     e     a     s     u     r     e     s 

1    2    3    4    5     6    7    8        9   10   11   12   13   14   15   16   17   

No. Name of the 
tree 

A, B 
or C ? 

Correct 
? 

What I want to remember about this tree: 

  1 Chestnut B 

  2 Cedar C 

  3 Sycamore C 

  4 Copper Beech A 

  5 Birch B 

  6 Walnut A 

  7 Yew C 

  8 Ash B 

  9 Thuja B 

10 Lime A 

11 Black Pine C 

12 Oak A 

Well done! 


